	Kontrolni zadatak 7. razred

	I grupa                           

                           Ime i prezime
	
	Datum
	

	1. Izračunaj:
(-3)4+ 23 – (-43) – 52 =


	20

	
	

	2. Napiši kraće sledeće izraze:
a) a ∙ a ∙ a ∙ a =

b) 2y3 + 3y3 +5 y3 =

c) (-5y7)2 =


	20

	
	

	3. Uprosti izraze:
a) 
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	4. Izračunaj brojevnu vrednost izraza:
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	5. Reši jednečinu:
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	broj poena
	ocena

	0 - 30
	1

	31 - 50
	2

	51 - 70
	3

	71 - 90
	4

	91 - 100
	5



broj poena:_________________

ocena:_________________

nastavnik:_________________
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